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NOTE ON THE DIFFERENTIAL EQUATION
dx dy
Tt = 0,

JI-2) " J(1-¥)

[From the Messenger of Mathematics, vol. xviiL (1889), p. 90.]

WE have i )
Yo oot @t =y /[t

COS U — COS ¥ 1 —cos (u +v)
and thence, writing cos u =&, sinu = /(1 —2*) = /(X), and similarly
cosv=y, sinv=+(1—-y)=+(Y),
VX)) - v(T) _ _ \/{l,ﬂy_—_\/@}o}
z—y 1—ay+/(XY))’
an identical equation which, in the form
2— -y —24/(XY) _1+ay—v(XY)

(e—yr l-ay+ V(XYY

may be verified directly without any difficulty. The integral of the proposed differential
equation can of course be taken to be c=axy—+(XY); and we have thus another

form of integral ) :
V&) - V() _ g
E=AD__ [(1T7) sy =),

we have

viz. we have the integral

{g&X)—-VCY%fz(I

2=y

which is what Lagrange’s integral of the differential equation
dz dy o
(X) V(Y)

becomes when the quartic functions X, Y reduce themselves to the quadric functions
1—2? and 1 —4? respectively.
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